Question for Statoil from Group 5 – Challenge 4, WI and WAG
Regarding the simulation question (2):

Use the Gullfaks Sør Statfjord model and add for different combinations of oil-, WI- and WAG-wells to see what gives the highest recovery of oil.

1. Are we going to use the new wells (W1, W2W3, W4W5, W6W7, GI2 and GI4) which we used in the extended case, given in part A.2 of the project?

Or

Do we have to come up with a completely new well configuration (oil producer, WI and WAG)? 

a. If this is the case, what do we have to look for when we are placing the wells, (attic zones, thief zones, etc)?

b. Do we have to do a communication analysis of the segment?

2. When we have the results of the simulations, are we comparing it with the reference case or the extended case?

a. Do we have to make an economical evaluation?

3. We read that hydrate formation can occur as a consequence of WAG, do we need to take that into consideration? Can Eclipse consider it?

4. Is there a limit for the gas injection rate? WAG cycle time? Voidage rate? 

5. What is the importance of the permeability distribution when applying WAG and WI?

